AN 2 AR » TP LR G AR 55 B0 W M o Bt BB » A — ORI B AR S A 2 il [ ] — A

% ol el

1 7 ] B G A7 7 [ B e /A1 T (4 /17 19 S 5 52 [B] I T (P 9 5 5 7 9 2 T 3% 1 ] BEE 19
B % 25 ] R L 1 6 AR 16 LR T 56 B o 1 6 2 I A 7T

[ACPR1000 ]

(AR TR ) s

[ERAR b4 TE 1

[BOP

[RESI A7)

[ R A

[ 15 7 7R

R AR ) (R HEFRAY) TECPR1000ZEBE [ > RIEAE S F ik
RSB K SR o PR E3 1 T B SR I A 4 TR B T B AR
JER K HERZ AT - s BT B = A B 2R
T A B B A% 2 A B A R

— % 7 ik — IR 9 R TH A 1 5% R LA CHE B A 1 B
e

MIERFEAE(E » TEAZISRMEILT - BREGA A TR (W
R~ KB A T8 Y~ RAEY - KRR
HLARSE ) BT T BB 53 R 1) i 5 71

MWL N - BIRA B IR A SR | B
S T IH B AT 1R ] [ SR 4 AR A E M 1Y 7 R
w

KR bR T A% B FH R B LASNR B 23 > 2B A SR R AN &
Aoy 5 I [ A AT % R L] — By ) N R SRR A EUAE >
B lRR

BLAETEFAM 10 D B 55 ik 3 T 4 T 5 DR A T H 28w A AR A
e (UL RE) - $5 A AE S OF 55 iR A 2 i fF AR
T PE IR JE 2 WO TH H 22 R 100 % H A B st B o BEBUR

A L 0 T AT W T R TR S

e — BekrE W] A B £ AN A S5 ok oA 2 T £ B I
HARRFEEER (HEME) 1AM

~30—



AN 2 AR » TP LR G AR 55 B0 W M o Bt BB » A — ORI B AR S A 2 il [ ] — A

% ol el

[HRLE

[CPR1000]J

=

N
R
off
&
®

[EPR]

[FCD |

(AL

ElzEad

%
i
=
2
i

A% T i PR i 3 P AL B L TR SO A T L R Y A A

B (BLERAM) FEM3105E6E b - BR T 2 THH T 2
> BB A Eskah - AERE - AFER - AEET]IH
HH B SO TR T FUARRE AKOHE AR Bl

A A R ERA BT RR > A BB SR 8%
Prgg EmoEST

3 —{If 9% 7R A B 2R M ORI ) — T i R A A
7R A Y Y PR R

([ P JBE 7K J2 EHE(European Pressurized Reactor) » 42 ik Bl Al
7 1 i B ) = AR TR AT > RZ BT PR D BR I R K S
HE > BN E R RGTUREE SR AL
e MR GE LB 1 R X T S I B T R AR R P
B IE SR B DL A% T vl R AR — (R AR AR B > AE SRS
% TE v i 1E B L R

Hy — RHAORE ST B B AR AL AR > 2 o2 R B S AT
JS IR S S S A% B 1 B — AL

200 14E3 AT H » 18 H AR 40 0%) 75 3 5| 35 g TG SE 42 45
5550 — R T v T AE B INES 740 i B 4%

TR 2 A AR ALRUE A DDA - DUT R~ JR LR
W LEt (S DL & )

AEVE (Zh) BAL o 17 F=1,000Jk L

AEVE (Z) BEAT o 135 FLKF=1,000,000 T FLHF o 2 BLHF— M
fE& RSB RNFEEE

~31 -



AN 2 AR » TP LR G AR 55 B0 W M o Bt BB » A — ORI B AR S A 2 il [ ] — A

% ol el

[EHE— 9%

[ P8 DT RE AR AR

[INESJ

I

[T ILI

BERS R

M310]

[JKEL

[JEFL I |

[ KR |

R

T IEART ]

AP B AZ AR (AR AR A m]) B rb A A B B B =AU
T IUAR R K AL TE BT o 304 R T HERE— 9%

1] % S5 RE AR - R — IR BT A T A B B A R e A
BRULFN-F- 75 30 A% BE 010 S A% 56 14 B ] AL

o8] % A 2 e o R o R B R B A A 1) T A A o] R S 9
Yl 2 ver) TR

AETR (3hR) BA7 o 1T FL=1,000 k4

REUR (Zh) BA7 o SE AT SN MR REIRERME R o 1T LG5
AT FL R R FE R /N R A E A RE B

e R AR AL R PR B B B — RPN R E B R 2 L
H - HASHRR

VA B TECPY i M HE R A 1) S B b 5808 MO TR iU 8 T BL AR
PRSI > W2 E TR T = BRE JRE K 2

REVR (Zh22) BLAZ o 1JEFL=1,000 T IL o % E A B w
LI R

fETE (3h) BA7 o 1JKFLEF= 1,000 T FLHF

H R R EE Rl > HAPU5i50.7% > U28{599.3%

T — BERr s TR 1A % 56 B 3 A Bl 75 S A 28 R 9 7R ) A
#

— 1A B A T 4 DA 0 SR A B 2 B A AR
e L ) TR (S G A R EW N i D P

32—



AN 2 AR » TP LR G AR 55 B0 W M o Bt BB » A — ORI B AR S A 2 il [ ] — A

% ol el

3=

[ B

[ A% TR A

[ J5 5 7 B ik

[EEIEH ]

[PWR]J

[ Z 58

[ R FLIRE ]

RIDERNGS o

[WANO J

A% T i 2 A TR ) A% B M % L P I AT ] ) 4% 1R AR A5 1)
M o A% B 1) T BT RE R P A% A8 RE A AR 21K

BN F EEM A FETT EME DR ER > —RUE T
FUIE N R RHE

N N E SUR - EF R IlibE g 51

S5

T F B A 2% W RS2 A M R ek

C IR B 2% A% R B A% 22 4 SR L Y R R i o T
i) o Sl B S B RERAE LA R H

JEE 7K S 3

TE S e R R 0 A BR R > RRE VR B L B s Rt EURHR
FE o FEE RN RS AR R SO HE Fb A R R AL R (R
ZIRRHALE) AR R

AEVR (Zh) A7 o 1 KFCRF=1018 T FCIF

O ERFEIA R SR E R UER A B

TR S e sZ AR — IR BRI R R AL Ak - B

A R AT RPN - A5 B S A R T B AR S 0 T AR O AL R
Ul (9 % A AT BKF

- 33 -



